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ARZ: ARIG:
LFE: OHVEC L& FCL—F PR
1 NEBEEB 0 vs 3  FHHESC 1 JYwH—2 vs  RAR—VISTERB
2 BE/\wH2 3 vs 1 EHHRTHET 2 FCYTYF1—L Vs EEIS
3 JwhH—2L 3 vs 1 FCITIFs—L 3 B8BSC Vs BE/\wH2
4 2R-vISTEE 8 vs 1 FCL—Fr2R 4 OAVEC Vs RPN
SH280 68308 ETE 11838
ASIZ: A2
LE: FCIxzIFT1—L L& BRI5
1 OHPNFC 65 vs 1 NEBEREB 1 FCIzIF+—U VS HHBSC
2 RR—VISTRIE  JEER BE/NvHR 2 DIR—VISTEB Vs OAHVFEC
3 FCL—Fv2 6 vs 0 IwhH—2 3 FCL—F+2 Vs BE/\vH2
4 EHRMBFT 2 vs 0 HESC 4 it RIRPA Vs SJvhH—2X
E3E 8718 E 8 118248
ASIZ: ASI2:
WE: 2R—Y IS T RIE2000 UE: B8SC
1 FCLL—Fv2 65 vs 2 EHRHOEBEA 1 DIR—VISTERB Vs RS
2 OHPNVNFC 0 vs 3 B0SC 2 FCL—Fv2R Vs FCITVF+—L
3 B¥/\whHR 2 vs 2 FCIxzIFs—L 3 OHVFEC Vs JwhH—2
4 NERIB 3 vs 3 IvhH-—X 4 BE/N\vHZR vs ERB
B A8 7H21H £330 128158
ARG A=G:
i B RMEE L& SwH—2
1 BE/NvHR VS SJwvhH—X Al FCITVF+—L VS R MIREA
2 DR—VISTERE Vs NERIF A2 NERIF Vs FCL—F PR
3 OHVEC Vs FCIT/F1—L B=1%:
4 FCL—Fv2R Vs BI3SC LE: IwhH—2
B1 OPVEC VS BE/NvVvHR
o)1 9888 B2 BHESC vs  2ZIR—WISTER
ARIGZ:
L& BE/N\vH2
1 FCL—F 2 Vs OHVFC X5 S BB
2 BHESC Vs JvhH—2X 1 09:30~11:00
3 NERIF Vs I RMEP 2 11:20~12:50
4 CR— VIS T RIB VS FCYxzJF+—U 3 13:10~14:40
4 15:00~16:30
FiE8 12818 X5 SR
AR5: AT 10:00~11:45
LE: B/ \wHR A2 12:30~14:15
1 VS B1 10:00~11:45
2 VS B2 12:30~14:15
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